NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 24 Problem Set
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the division in the right-hand column in two steps. The first two have been done for you.

1. Divide. Show

T a. 12:6=02 b. 1.2+60=(1.2+6)+10=0.2+10=0.02

12 tenths + 6 = 2 tenths 12 tenths = 60 = (12 tenths = 6) + 10 = 2 tenths + 10 = 0.02
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2. Use place value reasoning and the flrst quotlent to ccgﬁute the second quotient. Explam your thinking.
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3. Twenty polar bears live at the zoo. In four weeks, they eat 9,732.8 pounds of food altogether. Assuming
each bear is fed the same amount of food, how much food is used to feed one bear for a week? Round
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4 The total weight of 30 bags of flour and 4 bags of sugar Is 42.6 kg. If each bag of sugar weighs 0.75 kg,
what is the weight of each bag of flour?
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